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Accelerating Learning

Critical Content



Instructional Platform

Instructional Delivery

Instructional Strategies



MODELING PRACTICE

SUPPORTS

Explicit Instruction



Mathematical Language

Instead of that... Say this...



Multiple Representations



Addition Subtraction

Fluency

Multiplication Division



Subtraction

Division

Solve the problem

What skills are necessary to solve this problem?

Word-Problem Solving



Problem-Solving Difficulties

Attack Strategies
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Additive Word Problems

A.
Megan baked 38 sugar cookies and 24 chocolate 
chip cookies. Enter the total number of cookies 
Megan baked in all. 

B. 
Jana has 162 wooden beads and 95 glass beads. 
How many more wooden beads than glass beads 
does Jana have?

C. 
Martina has some money in her bank account. 
Then, she spent $135.69 and has a balance of 
$24.80. How much money did Martina have to 
begin with?

D.
Sam mows lawns and made $560 last week. She 
made $95 on Monday, $135 on Tuesday, and $70 
on Wednesday. How much did Sam make on 
Thursday and Friday?

E.
Hui saved $70 in January. In February, she spent 
$64 of the money she saved. She saved $92 more 
in March. How much has Hui saved by the end of 
March?
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Multiplicative Word Problems

A.
Ms. Thompson sold 6 cartons of cherries at the 
Farmers’ Market. Each carton holds 25 cherries. 
How many cherries did she sell?

B. 
Enrique has 2 times as many pencils as Ava. Ava 
has 6 pencils. How many pencils does Enrique 
have?

C. 
The number of blueberry muffins that a baker 
makes each day is 40% of the total number of 
muffins she makes. On Monday, the baker makes 
36 blueberry muffins. What is the total number 
of muffins that the baker makes on Monday?

D.
An airplane’s altitude changed -378 feet over 7 
minutes. What was the mean change of altitude 
in feet per minute?


